
TECHNICAL SERVICE PARTS

ELSS-SLDC

14K LUMEN  SCENE STAR

 ® Registered Trademark of Premier Farnell Corp.

REV 03/13



ELSS-SLDC

14K LUMEN SCENE STAR

TECHNICAL SERVICE PARTS

 ISO 9001 REGISTERED COMPANY

 PHONE: 330.264.5678 or 800.228.1161  I  FAX: 330.264.2944 or 800.531.7335  I  www.akronbrass.com

 WARRANTY AND DISCLAIMER: We warrant Akron Brass products for a period of � ve (5) years after purchase against defects in materials or workmanship. Akron Brass will repair or replace 

product which fails to satisfy this warranty. Repair or replacement shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service.

We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or modi� cation after delivery; damage; failure to 

follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY 

STATEMENT, AND WE DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, 

incidental or indirect damages (including, but not limited to, any loss of pro� ts) from any cause whatsoever. No person has authority to change this warranty.

 © Premier Farnell Corporation. 2000 All rights reserved. No portion of this can be 
reproduced without the express written consent of Premier Farnell Corporation.

REVISED:  02/13

** THESE ITEMS ARE NOT FIELD REPLACABLE. PLEASE 

CONTACT THE FACTORY WHEN NEEDING THESE ITEMS 

SERVICED.

ITEM NO.
PART 

NUMBER
DESCRIPTION QTY.

1 ** LED HOUSING 1

2 ** HEAT SINK 2

3 ** M48MM HEAT SINK SCREW 6

4 ** 2640 LUMEN LED ARRAY 4

5 ** 1320 LUMEN LED 8

9 625-BS M2.5 CIRCUIT BOARD SCREW 24

10 ** 14K LUMEN LED DRIVER 1

15 ** M6 COIL INSERT 10

16 608-RF REFLECTOR 1

17 634-BSC BEZEL SEAL 1

18 607-LN LENS 1

19 614-LF BEZEL 1

20 ** M4 COIL INSERT 6

21 620-OR BEZEL BOLT M4-16MM O-RING SEAL 6

22 610-BM LED BUMPER 1

23 635-NS M6-12MM LED BUMPER SCREW 4

24 605-SUB HANDLE ASSEMBLY 2

26 617-CS M6-16MM 4

28 605-SU UPPER SWIVEL 1

29 344-SW 15A ON-OFF SWITCH 1

30 632-TI TOGGLE SWITCH INSULATOR 1

31 345-SB SWITCH BOOT 1

32 602-SL LOWER SWIVEL 1

33 120-KB LED SWIVEL ADJUSTMENT KNOB 1

34 600-PS M6-16MM PAN LED SWIVEL SCREW 2

35 600-ST LED SWIVEL ADJUSTMENT STUD 1

36 516-FW 5/16 SS FLAT WASHER 1

37 627-DG DIECUT SWIVEL GASKET 1

38 344-SP ON-OFF SWITCH PLATE 1

39 321-LN NUT CENTER LOCK 5/16-18 SS 1

40 ** M4-8MM FLAT HEAD SCREW 2

PARTS OMITED FOR CLARITY

1. 3 PCS OF H-646, RING TERMINAL

2. 12 PCS **, THERMAL PAD

3. 3 PCS OF 476-ST, SPADE TERMINAL

4. 2 FT OF 146-BLK, 14GA BLACK WIRE

5 2 FT OF 146-RED, 14GA RED WIRE


